## CITY OF NEW BEDFORD

## APPLICATION FOR LAYING BUILDING SEWER AND/OR DRAIN SERVICE

	Date
101. 41. 14	
To the Mayor and City Council:	
I hereby request that a build	ding sewer and/or drain be laid for the premises at
	Le E. Querrey The Blus
250 =	Justice to Justice the state of
to connect with the sewer/drain the same to be laid in the street Public Works.	in
I hereby agree to pay at the work in the manner specified, in completion of the work.	e office of the City Treasurer all cost of performing the above excess of the deposit made herewith, within 10 days after the
It is understood and agreed to the payment of the cost of per cost shall be returned to me by t	that the deposit made with this application shall be applied rforming the work done, and that any excess of deposit over the he City Treasurer.
Witness In sa Thomasus	aster and allow link
The state of the s	Signature of Property Owner
	Address Telephone No.
	Plumber's Name
Requires separate entrance	
for roof water	Address
	ndustrial and/or Commercial Applicants:
the Commissioner of Public Wor	dustrial and/or commercial applicants only upon receipt by ks of such supplemental information as may be required by quantity of the proposed wastewater discharge.
This information was subm	itted by
	Signature of Applicant (owner)
and approved by the Commission	oner of Public Works on
	Date
	Commissioner of Public Works
Esti	imate and Deposit Requirement
Esti	imate and Deposit Requirement
	Office of Commissioner of Public Works,
My estimate of the cost of	Office of Commissioner of Public Works,laying the building sewer and/or drain described in the above
My estimate of the cost of application is	Office of Commissioner of Public Works,laying the building sewer and/or drain described in the above
My estimate of the cost of application is	Office of Commissioner of Public Works,laying the building sewer and/or drain described in the above
My estimate of the cost of application is	Office of Commissioner of Public Works,laying the building sewer and/or drain described in the above
My estimate of the cost of application is	Office of Commissioner of Public Works,laying the building sewer and/or drain described in the above
My estimate of the cost of application is	Office of Commissioner of Public Works,laying the building sewer and/or drain described in the above
My estimate of the cost of application is	Office of Commissioner of Public Works,
My estimate of the cost of application is	Office of Commissioner of Public Works,
My estimate of the cost of application is	Office of Commissioner of Public Works,
My estimate of the cost of application is	Office of Commissioner of Public Works,
My estimate of the cost of application is	Office of Commissioner of Public Works,
My estimate of the cost of application is	Office of Commissioner of Public Works,

MOTOR WIN TO THOSE

POIDS VALUE OF THE CORNER AND WAS ASSESSED OF THE PROCESSED.

Sener SMC

Land Dare bearing ik adroll

a the blide at a fill assessment day while

ative before the assessmentall 16 What talk to their but at area.

trongene is the team of the company

The state of the s

and the standard line of

Office of City Olark , and a control of

Philipside Deliver of the property of the Comment o

Brook and the believe in

And the part of the following most pend of the part of

	IISSIONER OF PUBLIC WORKS
Length of service14!	led 8/24/2 6/20
Sewer depth	1 pipe system
Surf. drain	
Juli. dram	Contractor's Name
	(if working on City Property)
City	of New Bedford,
Orain Permit Nº 19992	Office of D. P. W.,June_2, 1976
	Date
Γο Commissioner of Public Works.  Permission has this day been issued to	
PANA GAKOS Signature of Property Owner	Address Address
Ву	
	Address
o lay a building sewer/drain service from	the premises at
	iney Fr. Blvd. 250' north of Nina Street
	E. Rodney Fr. Blvd.
aid from main in street to property line.	
Owner agrees to supply all necessary materials and transite pipe.	(et)

Requires separate entrance for sewage and roof water

	RETURN OF FOREMAN ROLL #24
	Entered Jy and 10 19 76
	Time 1 P. M.
	By Jane M Houses
	COST
	Labor hours @
6	Tesse Tavores 4 " 4.98 19.92
	Tobat IT Pierro 4 " 4.19-16.76
+	torb Silva 4 " 4.19-16.76 /
	IOM Barke 4" 4.13 16.52
1	3 bry DeMello 4 " 4.31-17.24= 67.28
	87.20
	Stock 7 CT
	5 bag (pmont 3.20 - 1.60
10	00/65 Sand - 10
	Trucking
ord -	# 49-3-HRS @7.00 21.00
	- 116-1-14R1 - 3.45V
	. 52-1- HR, - 3.80
6 Outlot	Total Cost , 117:15
	Estimate-cost of laying drain 6300
0	Entrance charges
1	Total deposit
2 3	Balance due Let
100	D: 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1	Pieces pipe to curb None
3	" " curb to house 2)/-10ff: /- 5ff.
3	Cut at sewer 6 2 4
}	Cut at curb None
O	Size of pipe 6 " T van Si'L
	Correct
	Love Mororso Foreman
	Foreman